

ENG 381

Ekweneme EBUKA valentine

16/eng02/014

COMPUTER Engineering

$$1) y = e^{2x+1}$$

$$y' = (2x+1)e^{2x+1}$$

where: $u = 2x+1$

$$v = e^{2x+1}$$

$$\frac{dy}{dx} = 2 \cdot \frac{dv}{dx} = (2x+1)e^{2x+1}$$

$$y'' = u \frac{du}{dx} + v \frac{dv}{dx}$$

$$y'' = (2x+1)(2x+1)e^{2x+1} + e^{2x+1}(2)$$

$$\therefore y'' = y'(2x+1) + 2y$$

from Leibniz theorem

$$y'' - y'(2x+1) - 2y = 0$$

$$u = y' \quad v = 1 \quad u^n = y^{n+1}$$

$$u = y'' \quad v' = 0 \quad m_1 = n(0u^n - 0v) + n(1u^{n-1}) = y^{n+1}$$

$$w_2 = y'(2x+1) \quad v = 2x+1$$

$$u = y' \quad v' = 2$$

$$u^n = y^{n+1} \quad v^n = n(0u^n - 0v) + n(1u^{n-1})$$

$$v'' = 0$$

$$= u^n v + n v^{n-1}$$

$$= y^{n+1}(2x+1) + n y^n 2$$

$$w_3 = 2y$$

$$u = y$$

$$u^n = y^n$$

$$v = 2 \quad v' = 0$$

$$w_3^n = n(0u^n - 0v)$$

$$= 2y^n$$

$$y' - y'(2x+1) - 2y = 0$$

$$y^{n+2} - y^{n+1}(2x+1) - 2ny^n - 2y^n = 0$$

$$y^{n+2} - y^{n+1}(2x+1) - 2y^n(n+1) = 0$$

$$y^{n+2} = y^{n+1}(2x+1) + 2y^n(n+1)$$

$$u^n = y^{n+1}$$

$$w_1 = y$$

$$u = y$$

$$u' = y', u'' = y''$$

$$u^n = y^n$$

$$v = 1, v' = 0$$

$$w_1^n = 1^n \left[(0 \cdot u^n - 0 \cdot v^0) + n \cdot (1 \cdot u^{n-1} v') + n(n-1) u^{n-2} v'' \right]$$

$$= u^n y + n u^{n-1} y' + \frac{n(n-1)}{2!} u^{n-2} y''$$

$$= y^{n+2} y + n y^{n+1} 2x + \frac{n(n-1)}{2} y^n x^2$$

$$= y^{n+2} v + n y^{n+1} 2x + (n-1)n y^n$$

$$= y^n [y^2 x^2 + n y^2 + n(n-1)]$$

$$w_2^n = n \left[(0 \cdot u^{n-1} v^0) + n \cdot (1 \cdot u^{n-2} v') + n(n-1) u^{n-3} v'' \right]$$

$$u^{n-3} v''$$

$$= u^n v^0 + n u^{n-1} v' + \frac{(n-1)n}{2!} u^{n-2} \cdot 0$$

$$= y^{n+1} x + n y^n \cdot 0 + 0$$

$$= y^n (xy + n)$$

$$w_3^n = n \left[(0 \cdot u^{n-1} v^0) + n \cdot (1 \cdot u^{n-1} v') \right]$$

$$= u^n v^0 + 0$$

$$= y^n$$

$$x^2 y'' + x y' + y = 0$$

$$w_1 + w_2 + w_3 = 0$$

$$y^n [y^2 x^2 + n 2xy + n(n-1)] + y^n (xy + n) + y^n = 0$$

$$\text{At } x = 0$$

$$y^n n(n-1) + y^n n + y^n = 0$$

$$n(n-1) + n + 1 = 0$$

$$y^n - y^n n(n-1) - n y^n$$

$$\text{at } n = 1$$

$$y = -0 - y'$$

$$y = -y'$$

$$2) y = x^3 e^{4x}$$

$$V^0 = x^3, V^1 = 3x^2, V^2 = 6x, V^3 = 6$$

$$u = e^{4x}, u^1 = 4e^{4x}, u^2 = 16e^{4x}, u^3 = 64e^{4x}$$

$$u^n = 4^n e^{4x}$$

$$y^n = \sum_{k=0}^n \binom{n}{k} u^{n-k} V^k + \binom{n}{k} u^{n-k} V^k + \binom{n}{k} u^{n-k} V^k + \binom{n}{k} u^{n-k} V^k$$

$$= V^n V^0 + n u^{n-1} V^1 + \frac{n(n-1)}{2!} u^{n-2} V^2 + \frac{n(n-1)(n-2)}{3!} u^{n-3} V^3$$

u^{n-3}

$$= 4^n e^{4x} x^3 + n 4^{n-1} e^{4x} 3x^2 + \frac{n(n-1)}{2} 4^{n-2} e^{4x} 6x + \frac{n(n-1)(n-2)}{6} 4^{n-3} e^{4x} 6$$

$$+ \frac{(n-1)(n-2)}{3 \times 2} 4^{n-3} e^{4x} 6$$

$$4^{n-3} e^{4x} 6$$

$$= 4^n e^{4x} x^3 + n 4^{n-1} e^{4x} 3x^2 + n(n-1) 4^{n-2} e^{4x} 3x + n(n-1)(n-2) 4^{n-3} e^{4x}$$

$$= 4^{n-3} e^{4x} [4^3 x^3 + n 4^2 3x^2 + n(n-1) 4 \cdot 3x + n(n-1)(n-2)]$$

$$= 4^{n-3} e^{4x} [64x^3 + n 48x^2 + 12(n-1)x + n(n-1)(n-2)]$$

$$y^3 = 4^{3-3} e^{4x} [64x^3 + (3 \times 48)x^2 + 12 \times 2(n-1)x + 2(5-1)(5-2)]$$

$$y^3 = 16e^{4x} [64x^3 + 240x^2 + 240x + 60]$$

$$1) x^2 \frac{d^2 y}{dx^2} + x \frac{dy}{dx} + y = 0$$

$$x^2 y'' + x y' + y = 0$$

$$w_1 = x^2 y''$$

$$u^0 = v - y''$$

$$v^1 = y''' \quad v^2 = y^{(4)}$$

$$u^n = y^n + 2$$

$$w_2 = x y'$$

$$u^0 = u = y'$$

$$v^1 = y'' \quad u^2 = y'$$

$$u^1 = y'' \quad v^2 = y'''$$

$$v = x, v^1 = 1, v^2 = 0$$

$$\begin{aligned}
&= x^2 y^{n+2} + n^2 x y^{n+1} + n(n-1) y^n + x y^{n+1} + n y^n + y^n = 0 \\
&= x^2 y^{n+2} + x y^{n+1} (2n+1) + y^n (n^2 - n + n + 1) = 0 \\
&= x^2 y^{n+2} + (2n+1) x y^{n+1} + (n^2 + 1) y^n = 0
\end{aligned}$$